
O 1L4e* @4 s/to :
@ Bilr has 34L

1L 3/8
2L/B=

pennies. Amy

O 648 x 3s = O 2 ) zzr Gr 4 p. zL

has 7627 pennies. How many pennies in aII?

@ I{easure Lo the
nearest cm.

DAY 104

O 3 t/6 +' @ !27Ls'-- tL/Ls Q (6 x zo') + (e x 42) =v 4 3/6 = -Y 
\--l

@ Find four numbers whose sum is 20. Use trial
O 6J1s5

rtttttts 6 7 B 9 10 11
ttttt
11234
I

I

L2

and error.
to

l'l'l10 11 L2
l'l I l'l'l'l'l'l11234s678
I

'll
9

inch@ Measure
nearest L/2

DAY 10 5

G,

@
@

6.8
+2.4

rind five
Give two

DAY 106

3.7
-L.6

one-di gi t
names for

Ql (Bz x s) + (93 x 4't = Q) 7T6€

numbers whose sum is 30.

this 1ine. z'(i i- )

6) 13.8
- + 7.2

€) 14.s
3.2 O 64s

x790

fu--r)
O 4ltfr 6 632 s2:

@ which of these are lines?

DAY LO1
DE F G/ ffi

fl 76.3\--l +99.8

€- ci rcre
0

19 B

DAY 108

-1 5.0

the odd numbers
6 2L 50

26 L7 40

O $6.:a O zso6 +4 =

G)ci.r. this line two names.

700

7L

DAY L09

x78 @ Which are lines? X
__T{-___-_ i-o__=) ,}y

@ 30 )-i3s-o
@

9.76
+3 .98

0+0=

3.23
-L.03 O (943 x 1) + 632 =


